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PAPER 1

13.



Paper T Booklet A (10 marks)

Questions 1 to 10 camy 1 mark each.

For each question, four options are given. One of them is the correct answer.
Make your choice {1,2,3,or4).

Shade the correct oval on the Opftical Answer Sheet (OAS).

1. In 6023, the digit ‘6’ isin the place.
(1) ones.
{2} - tens :
- -3}~ hundreds -
- (4 _T_l"l_o'usonds .
2. The fime shown on the clock is

(1) 15 minutes past 5 .

(2) 16 minutes past 6

(3) . .15minytesio s
“(4) . V5 minutesto 6

3. The difference between 6503 and 2282 is

°
&

1) 4221
(2) 4225
(3) 4321

(4) 4381




4.

Express 8 kg 30 g in grams.

i
2
3
4

8309
8003 g
8030 g~
8300 g

How much water must be added fo the iwb ]UgS_VSO_’Eh‘Cﬁ the total _

(1)
(2)
(3)
(4)

W

)

(2)

(4)

" volume of water is 147

300
400
600
700

is equivalent {o

i



7

8.

How many tens are there in the quotient of 480 + 47

(1) 12
(2) 24

(3]- 120
(4) 240

The letter F, not drawn to scale, is made up of 2-cm squores.

The perimeter of the letter Fis ___cm.

{1} 16

{2) .18

{3y . ..32 ..

(4} 36

The shaded area of the figure is cm?.
9 cm ?2cm

. bem| b

é6cm

a

(1) 54
(2) 40
(3) 108
4) 216




10. There are 12 coins in a box. They add up to $3.90. Some of
The coins are 50¢ coins and the rest are 20¢ coins. How many
20¢ coins are there ?

(1)
(2)
(3)
(4)

SoOT O8N

End of Booklet A






Tao Nan School
Primary 3 Maihem_czﬁcs End-of-Year Examination 2012

Name : ( ) Class: Pr3

Paper 1 Booklet B {40 marks)

Each qqesﬂon"cdnies 2 marks. Write your answers in the boxes provided.
~ Give your answers in the units stated. '

oo 11 - Write ;rh,e number 9812 in words. |

12 Complete the number pattern below.

4081, 4381, 4331, - - - -, 4381, 448]

Ans:

13 Inthe sum beléw, the same &igit is hissing from each box.
What is the number?

3589
43

+ 31
4333

Ans:

79.



14.

15.

16.

17.

70 min + 50 min + 25 min =

min

Divide 567 by 6.

The remainderis

X8=192

What is the missing number in the box?2

1000 x 7

1000 x 2 + 1000 x

Ans:

Ans:

. Ans:

——h___min

Ans:




18 In 30 minutes’ time, what time will the clock face show?

Ans: o.M,
19. . Ahmad played soccerfort h 15 min.
He stopped playing at 535 p.m.
- What fime did he start playing: soccer?
Ans: om.
20 4800m+250mi=.____. km m
Ans: km 28
oy T
Box B is heavier than Box A by
Ans: g




22  Michael has 950 mi of apple juice in ajug. He pours all of it equally
into 5 glasses. He drank 2 glasses of the juice. How much apple
juice did he drink?

Ans: ) m#f

. 2_'3;. " How rnany. more rectangles mbsf be shaded s-o' that % of the ™

figure is shaded? =~ -

Ans:

24, = Write your answer in ifs simplest form. '

MW
R [~

ARNs:

25.  Arrange thefractions below-in descénding order.

’

7
8

3 1
4 2

Ans:




26.. How many two-dollar notes can | exchange with 24 fifty-cent

coins?

Ans:

27  The figure below is made up of 3 identical squares.  Find the

perimeter of the figure.

4m

Ans:

28. The figure below is made up of areciangle and a squﬁre.
‘Find the area of the shaded pari.

1Z2cm

5¢cm

Ans:

cm?

£3.



Use the bar graph below to answer quesiioﬁs 29 to 30.

The bar graph below shows the number of buns Yummy Bakery sold on
Friday.

60

50

40

.Numbgr of t;uns 30

Cheese Kaya Chicken

Types of buns

29  How many more chicken buns than .?_Héése buns -yvé'ré sold?

SLANS:
30 The number of tund buns sold was times the total number of
kaya and curry buns sold.
Ans:

End of Paper 1
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Time for Paper 2is 1 hour.
Do no’r open Thls bookle’f Unfll you are ’rold ’ro do 5O -
Read and follow all 1ns1‘ruc’rions carefully.

Answer all quesiions.




Each question cairies 3 marks.

For each of the following word problems, :'show all your working ciearly and
wiite your answers in the spaces provided.

' Arbbonis 920 cm long. It is cut equally into 5 pieces.
Linda used 2 of the pieces to tie her hair. What is the |
fotal length of the ribbon that Linda used?

Answer:

2 A lecture theaire h0§2_0 sedts in each row. A.group of 168 pupils
occupied the first 9 'royv.s of seafs. How many seats in the first
? rows were unoccupied by he pupils?

X<

Answer:




3.

A baker baked 350 muifins. % of the muffins were sold.

How many muffins were left unsold?

Answer:

Ryan has $20 less than Johnny. David has $30 less than Ryan.

They have $575 alfogether. How much money does Ryan have?

Answer;’

7.



5. Alfred is 9 years old. His father will be five times as old as he s in
2 years' time. How oldis his father now? ‘

. - Answer:

6 There is a fotal-of 10 hamsiers and chicks.
Together, they have 32 legs.
"How many hamsters and -how many chicks ore there?

L]

Answer: harpsters and ehicks




Ao,

JANWAVAY

YAVAVANRRWAVAVAVA
AVAVAVANWAVAVAVAVA

Pattern 1 Pattern 2, Pattern3 .

{1 tﬁangle)‘ (3 triangles)

. Pattern4 Pattern 5 _
(10 tnangies) {15 triangles) '

aj  Draw Pattern 3.

) Héw'__i'nony angles are there in Pattern8?

7 Ahswer:
8. Sam had $ 2800. He spent % of his mongy and gave $150 to his brother.
How much money h<'::d ﬁé-léﬁ?
Answer:

$9.



-a

9.

20 poles are planted along a road at equal disfances.
The distance between the first pole and the sixth pole is 35 m.

What is the distance between the sixth pole and the last pole?

20th

Answer:




10 The figure below is made up of 2 idenfical rectangles and a square.
Find the perimeter of the shaded paris of the figure.

ém

1Z2m

: 1_19-m

Answer:

o

End of P,oper?

78
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. Booklet A Paper 1 *
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Book[et- B: Paper 1

11. Nine_thousand, eight hundred and 21.1kg750¢g

twelve - R . 22.380ml

12. 4431 ) 23.3

13.-2 ) 24. 2/3

14. 2'h 25 min ; 25. 7/8, 3/4, /2

4573 - o 26. 6

16.24 - o o 27.32m

17.5 - 28. 59 cm?

18. 12pm 29. 15
©19:420pm. T T T s e - 3002

20. 5 ki 50 m ‘ )

Paper 2

1. 990+§=198

. .- 198%2=396

The length of the ribbon that Linda used is 396 cm.

73.



Answer Key


2. 9x20=180
180-168=12
There are 12 seats in the first 9 rows were unoccupled by the pupils.
3. 5-3=2
350+5=70
70x2=140 :
" There were 140 muffins unsold.

4, 30+30= 60 .
- 60+20=80
. 575-80=495
.495+3=165
- 165+30=195 -
Ryan has $195.

5. 9+2=11
11x5=55
55-2=53
. His father is 53 years old.

6. 4x10=40
40-32=8
4-2=2
8+2=4
10-4=6
There are 6 hamsters and 4 chicks.

7.2).

AN
AAWAN

b) 15+6+7+8=36
There are 36 trlangles in Pattern 8.

8. 4-3= 1
2800+4=700
700-150=550

He had $550 left.




9. 6-1=5
35+5=7
20-6=14
14x7=98 _ : -
The distance between the sixth and last pole is 98m.

10. 19-6=13

) 13+6+13+6=38
6+6+6+6=24
24+38=62

The periméter of the shaded parts of the figure is 62m. -

Q.

eoF
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